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1. fRoerRf e fa 1x8=8
Answer as directed : .

(a) N o A R @I @B BT Brad 390 |

Mention any one source of collecting
secondary data.

P16/197 : ( Turn Over )



(2)

(b) mmmﬁ‘eﬂmmwmaﬁ?

On- which of the following measure
extreme values have no effect?

) W .,
Aril.:hmefic mean

(i) TG
Median

(iii} BTTSI TG
Geometric mean

. (iv) I NG
Harmonic mean
(row Taehr TR SRtear)

(Choose the correct answer)

& nﬁxmﬁﬁamﬂ{ia, b ¥ ¢ T (03
x-3 GIER T 2]

If a variable x takes the values a, band ¢
then the geometric mean of x is :

(i) Jaxbxc
i) Jaxbxc
(iii) Yaxbxe

a+b+c

(v)

(9% eaehl AIfR Bferea)

(Choose the correct answer)
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(3)

(@ v TRl (PCET RCweIR ol 2w 2

(e

Which of the following is not a measure
of dispersion?

(i) 5% 697 / Mean deviation
(i) #44 / Range
(iii) 594% R / Quartile deviation

(iv) [/NF T4 / Harmonic mean
(o TaTeH! AR Tfrean)

(Choose the correct answer)
To SN O[T AR AT 0

" Determine the range for the following'

iy

P16/197

distribution :
X : 30 35 40 45 50
f : 15 11 .4 6 2

e B A RoRs e T WA

Base year for the construction of an
index number should be

(i) & < I
- a year only

(i) b1 JERF I

a normal year
(iii) TS TR AR I

the previous year of a current year
(iv) €T b8 W

None of the above

(% Teachr Af Sftrean)

~ (Choose the correct answer)
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(4)

(9) TIF 9% ROW oA |

An index number is a spcciai type
of .

© (4T 51 AR )
, (Fill in the bl‘.ank)
(h) SBER GB SRIFS STEd 9|

' Mention one importance of interpolation.

2. R R o kG oy R B : 4x4=16
Write short notes on any fourof the following :
(a) Tfoes afemf

Random sampling
() T
. Mode
(0 e Reem
" Standard deviation
(d) g aifetam ~R_rs
Time reversal test
(e) PR
| Range

3. (o) U oY W (M B A AL BRIy
oY ez WK Rk aeEr R 4+7-11

Distinguish between primary dafa and
secondary data. What are the different
methods of collecting primary data?
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(S)

SR /Or

(b) P e we efor! R W ndH
(I R PR TES W FERTE
JRYPTR SR 39 | - 5+6=11
Distinguish between census and
sampling. Discuss their comparative
advantages.

4. (o) @B geR W FPrea F T2 FEW
areer Rfdw Mo R R 7 TR I TR

ot wbikets Gegt 3 RIS R
: 2+2+7=11
What do you mean by measures of
central tendency? What are the different
measures of central tendency? Which
measure do you consider best and why?

%]t /Or
(b) TS fiFl TUPRE oK1 AT T A T
e <= . 6+5=11

Calculate arithmetic mean and median
from the following data :

—
i 0-10 10-20 | 20-30 | 30-40
Marks

TR ' 4 . 12 24 36
No. of students

ol 40-50 | 50-60 | 60-70 | 70-80
Marks ]
TR 20 16 8 )
No. of students
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S5 {a)

)

6 @

(6)

Rewd P B @2 RewdrR s/ T
T AR e S cidE ot w0
T RoeR SqRa are SPRePRR T w4 | .
. ' 2+3+6=11"
What do you mean by dispersion?
Distinguish between - absolute and
relative measures of dispersion. Mention
merits and demerits of mean deviation.

2{1 /Or

weTe fia YR o[ YW Rvaw e F41 11

Calculate standard deviation from the
followi_ng data :

|

o
0-10 1020 | 20-30 | 3040

Class

IRRRE
Frequency

10 15 25 25

e
Class

| 40-50 50-60 60-70

| - 5

10

Frequency 10

qm@ﬁf?ﬁfﬂvqmmw"fmiﬁ
9 %0 T3 W2 PRI IR AT

TEy 90 2+4+5=11

‘What is an index number? Why is

Fisher’s index number considered as
an ideal index number? Mention the

. uses and limitations of index number.
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(7)

[T /Or

) TR oG IR ke @ TPER e
(i) R red 3@ s IR 2014 %R T
KT [efy 0 ' 4+7=11
Calculate the price index number for
the year 2014 by using [i) Laspeyres’
formula and (&) Fisher’s ideal index

. formula from the following data :

: ¥ / Price %919 / Quanti
#9/Goods 5510 2014 2010 2014
y 10 12 12 15
B 7 s 15 20
c 5 9 24 20
D 16 14 5 5

7. (@) EEH IR W?Wﬁ%ﬂmm

2411

. 2+10=12
What is interpolation? Explain the
" different methods of interpolation.

=1 /Or
(b) TR S o & R 200 5 °A 250 Barq

foeqe Boretn 91 IR R [l 0 12

From the following data, estimate the

number of persons in the income group

of ¥ 200 to ¥ 250’ per month :-
I (2 12 217 T ) 100 | 200 | 300 | 400 { 500
Income (below ¥ per month)
IR~ 20 | 45 | 115 | 210 | 3a5
No. of persons ]

* K K )
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